BEadE<

(R) Week 12-3

aov(y~factorl+factor2, data=mydata) #{¢ mydata 1y H—H{T)
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anova(aov(y~ factorl+factor2, data=mydata)) #%| = E4H AV EER T

SBEBITINE -

FE: 1EIL factorl # factor2 &9 53X GAEH (no

summary(aov(y~ factor1+factor2, data=mydata)) #%I]-H=E4HAY R

FHRBOIHE -

> yl=c(12,14,13,16,15,15)
y2=c(1l4,12,13,13,11,15)
yv3=c(l9,21,183,22,20,20)

y=c |y -

+ “reck““,”reck”“]]
> pdatasSv=y
> pdata

blocks pack
1 Bl packh
2 BEl packh
3 B2 packh
4 B2 packh
L] B3 packh
& B3 packh
T Bl packB
B8 Bl packB
] B2 packBb
10 B2 packB
11 B3 packB
12 B3 packB
13 Bl packC
14 Bl packC
15 B2 packC
16 B2 packC
17T B3 packC
18 B3 packC
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> summary (aov (v~pack+blocks,data=pdata))

Df Sum S5g Mean 59 F walue

pack 2 15&6.00 T8.00
klocks 2 5.33 2.687
Residuals 13 34.e7 2.687
Signif. codes: O Y#%*f (_ 001

> anova (aov (y~pack+blocks,data=pdata) )
Analysis of Variance Takle

Response: vy

Df Sum Sq Mean Sq F walue

pack 2 156.000 78.000
klocks 2 5.333 2.667
Residuals 13 34.667 2.667
Signif. codes: O Y#%*f (_ 001

Pr (>F)
25,25 1.54=-05 #%#
1.00 0.394
ve&r g0l YA' 0,05 Y.
Er (>F)
25,25 1.54=-05 #%#
1.00 0.3945
ve4r o g,0l YA' 0,05
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Week 13-1

BRI
i 53 M7 (regression analysis) f&—f#H 2 17 fEE2E] (response variable)
B H 8% (independent variable, ¥ Nlf##fEE88], explanatory variable)
BRIV AR T ARy - HARa R

Y=X+¢>e~N(0,0%) -
1 PB4 MR (simple linear regression model)
ST n EENIAVERAER (X1, Y1), (X, Y2), -+, (X, Yy) > REERERPE ARG
S

Yi=a+pX;+¢& 15 0

IA

n,

W

Hi 28 a AREEE - 280 (FERFR > X, =BEEHE | (EE]
B Y =FESENE | EERE > M &,..., s B EKE N0, 0%)
HEILEIRE M - CEE: £ LEE A XL 1), (X2, Y2),+ (X, Vo)
& HEEIRY - 110 &y, .., e AN ATBUNIEY > HABH EEL X1, Xo) o, Xn
REFAVEE) NI

Y;~N(a + BX;,0%) 1< i < n-
FIFH £/ N J7 (least squares) (3 HERIGEF2EL a ~ B 71 o
HRE—4H a f1 B WVEMRFEIIR S =25, (Y —a— LX) F/N F
IR 7 0575 ]



Week 13-2

b, Sx_y Zn (Xi— X)(Yi_7)=21i1=1XiYi—n)?7
Sxx ! 12 1(Xj—X)? Z?lejz—n)?Z

n (XL_X)Yi
i= 12 1(X] X)z

@=Y - BX=Y1,[~

(X;i—X)X
n 2}‘=1(Xj—x)2] t

f162 =31, (Y;-& - BX))* /(n—2) = SSE/(n - 2) » Hrf
Sy = Ziea(Xi = XY, = V) > S = XL, (Xy — X)? FISSE=Y1_,(Y; —
2 — BX;)? -
B Frse A otriitiiE2ZE B ENAER » 10 FRECELEREY
5 CIP R (R B X B MRS (B (MBS ELY : BEr 04l I~
FE: 50 100 60 50 70 80 90 100 80 60
RRASfE: 55 100 70 60 85 100 90 100 80 80
X=74>Y=82 > S,,=2520 » S,,=3240 » HII}
B = Syy/Sxx = 2520/3240 = 0.778 > a=Y — pX=82-0.778(74)
=24.428 >

6= (i—a= Xy /(a=2) = SSE/(n—2)

=448.88/8=56.11 ¢

By Y = 24428+ 0.778X - (X =0, Y = 24.428 - }4 = %!
AE[gEH 0 FRHVEEE - 24428 EBZEEN —IF - PR EEHY

0.778 B ESTT -



Week 13-3
152N K e e Ol =
@ B~NB g * &~N@ G + =) o)
(b) SSE/o*=Ei1(Y; — @& — pX))? [o?~xh-
(©) @ fI B ¥1SSENEEII(E @ fl BRI
(d) SSE=XIL,(Y; — & — pX)*=Y.[(Y; = V) = B(Xi = D)]?
=Y (Y =2 =283 (X - XY - V) + B2, (X, — X)?

=Syy —2BSxy + B*Sxx = Syy = 2B*Sxx + B*Sxx = Syy = B?Sx -

Hefr Sy, =¥, (Y, —1)?

fE Ho: B=Po (EFD) ¥ Hu: B+ By

B-Bo
VMSE /Sy

tn—z EMRESETEEAIE] > thoz1-y /2> AIFESE Ho» SRIAIELE -

EEREE/KRE Y = 5% 0 & Ho RER; > EsttE T =

Bty 21—y 2GR a7 MY 1 —y/2 s3fifH - JRAJETE p{E=2P
(tn—z > [t]) > HI p{EAR/INRHAEE S TESE Ho - FIHRTEZGEHEEE
FEE Y TA(BEEAEED - aJHGRER B HY100(1 —)%EHEE M R
(B = tn-21-y/2dMSE/Sxx, B+ tn_21y/2/MSE /S| -

[EIE

fgE Ho: a=ay (ER1) ¥ Hi a # aq

W EREEKEY =50% T = _ ~ t,_,  EIEL
\DIE,%?E% KEY Y0 \/MSE(l/n+X2/Sxx) n-2 EE*EE/—\E}E

ATEBMEIC]> th-z1-y/2 > AIHESE Ho > BRIAMER - JRA[EHRE p-E



